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Here are sketches of four triangles. 
The longest side is exactly 1cm. 
Another length is given to 2 decimal places. 

a) Circle the value of s𝑖𝑛 70𝑜. Correct to 2 decimal places.

b) Work out the value of 𝑥. 
Give your answer to 1 decimal place. 
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Write down the exact 
value of cos 30𝑜

Write down the exact 
value of tan 30𝑜

Circle the value of s𝑖𝑛 60𝑜.
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Which of these values cannot be sine 
of an angle? 
Circle your answer. 

−1 −0.5 0

0.5 1 1.5

Show that 10 sin 60𝑜 − 3 tan 60o can be 

written in the form a 𝑏 where 𝑎 and 𝑏 are 
integers. 
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Show that 10 sin 60𝑜 − 3tan 60o can be 

written in the form a 𝑏 where 𝑎 and 𝑏 are 
integers. 3
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t𝑎𝑛 30 =
sin 30
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=
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3

sin 70𝑜 =
𝑥

5
𝑥 = 5 sin 70𝑜

𝑥 = 5 × 0.94
𝑥 = 4.7𝑐𝑚

sin 60𝑜 =
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= 5 3 − 3 3 = 2 3


